6.2.1 FHEEMNNEZEHAREA A HIENMER

|45 FATPUA % ABCD 1, BC+DC+BA+DA= 0
2.0 Ha|=3, |b|=5, WIAE a+bHKMHRAMEL 8 .
3.8 G RAABC E L, MGA+GBHGC=_ 0
4. SEATIUIATE ABCD 1, a4k AC 5 BD T 0 /i, P AP N E— A,
SRiE: PA+PB+PC+PD=4PO. D c
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JERR " PA+PB+PC+PD
=PO+04+PO+0B+PO+0C+PO+0D
=4PO+(0A+O0B+0OC+O0D)
=4PO+(0A+0C)+(0B+0D)
=4P0O+0+0=4PO.

. PA+PB+PC+PD=4PO.

5. AT L 5 k/h (R L R 5 EL TR T RAT B, UM SERR AT T 18 5 KR
JT TR R 3001, SRR FEE AN S i .

R WEFT, OARTAREE, OBRTMEE FX AN Y AR EE,
OCK T LI AT E, £A0C=30°, |OB|=S5.
Wi OACB hiEH, B c
0a=HEL —5.f3,

tan 30°
0c|=-198L ),
sin 30°

SR E AN A 53 km/h, AESZIREE A 10 km/h.,




